ERY TR BN EFRTIH
|F6L/ANIE (X)) (W)

BEREE iy |FE (FH) |Z6E (H) ATE

AR S 184 108 500
AS kg 280 141 500
FE= kg 2b4 22 6, 300
HDF (INEA) kg = - -
HE kg 115 108 800
FANY kg 103 75 800
[EIONAE Z - - -
NFEF kg 1,620 863 40
HA+F kg 540 . 70
-z kg 756 540 300
I 7Z77— 18 = - -
L &% X kg 162 132 500
B ke 540 6b 1,000
0 ke 280 168 125
B 18 432 216 -
7+ X kg 691 216 105
A A kg 281 76 332
E—v_> kg 432 270 300
DA kg — - -
k3 E3 - - -
A(-fI=7 S 708 i3 400
T7Z Ny - - -
s kg 864 648 7/
=T >N kg — - -
ET RN kg — - -
| HEZ kg - - -
Hih=E kg 324 108 200
EES kg - — -
Y4 ke 238 119 1,000
CieY-P ) kg 162 108 50
F= kg - - -
FHE kg 1,296 - 5
% E3 - - -
g E3 E3 - - -
IR E3 - - -
e kg - - -
Pz Z. - - -
Exa kg 216 130 297
A ko - - -
g (D0°8) kg - - =
g (2 3/ A7) kg 626 484 80
g (5 L) kg 7134 h62 40
/Ny D 2/0g - = =
_____ HAZE kg - - -
N kg - - -
EADA kg - - -
F—/LX X0 kg - - -
FOTAX O kg - - -
TN X O kg - - -
h—AhLhZ X O ko — - -
27/ Ve - - -
S —h—)L kg - - =
ElE kg - - -
T T 7 kg = - -
F 47 o NJL kg - - -
—a2—N1J=A ke - - -
— 21— EF—XF kg 1,782 1,080 60
S XY A kg 3, 240 2,160 25
PE kg /85 /56 39
=KL L kg - - -
Bk L kg - - -
ZEa L kg - - -
EIE 10% - - —




